

이차방정식의 근의 공식

(Formula of root of quadratic polynomial equations)

Formula of root of quadratic polynomial equations

▶ Start

▶ Start

$$ax^2 + bx + c = 0 \quad (a \neq 0)$$

▶ Start

$$ax^2 + bx + c = 0 \quad (a \neq 0)$$

$$a \times x^2 + a \times \frac{b}{a}x + c = 0 \quad (\because a \neq 0)$$

▶ Start

$$ax^2 + bx + c = 0 \quad (a \neq 0)$$

$$a \times x^2 + a \times \frac{b}{a}x + c = 0 \quad (\because a \neq 0)$$

$$a \left(x^2 + \frac{b}{a}x \right) + c = 0 \quad (\because a \neq 0)$$

▶ Start

$$ax^2 + bx + c = 0 \quad (a \neq 0)$$

$$a \times x^2 + a \times \frac{b}{a}x + c = 0 \quad (\because a \neq 0)$$

$$a \left(x^2 + \frac{b}{a}x \right) + c = 0 \quad (\because a \neq 0)$$

$$a \left(x^2 + 2 \times \frac{b}{2a}x \right) + c = 0$$

▶ Start

$$ax^2 + bx + c = 0 \quad (a \neq 0)$$

$$a \left(x^2 + \frac{b}{a}x \right) + c = 0 \quad (\because a \neq 0)$$

$$a \left(x^2 + 2 \times \frac{b}{2a}x \right) + c = 0$$

$$a \left\{ x^2 + 2 \times \frac{b}{2a}x + \left(\frac{b}{2a} \right)^2 - \left(\frac{b}{2a} \right)^2 \right\} + c = 0$$

Formula of root of quadratic polynomial equations

▶ Start

$$ax^2 + bx + c = 0 \quad (a \neq 0)$$

$$a \left(x^2 + 2 \times \frac{b}{2a}x \right) + c = 0$$

$$a \left\{ x^2 + 2 \times \frac{b}{2a}x + \left(\frac{b}{2a} \right)^2 - \left(\frac{b}{2a} \right)^2 \right\} + c = 0$$

$$a \left\{ x^2 + 2 \times \frac{b}{2a}x + \left(\frac{b}{2a} \right)^2 \right\} - a \times \left(\frac{b}{2a} \right)^2 + c = 0$$

Formula of root of quadratic polynomial equations

▶ Start

$$ax^2 + bx + c = 0 \quad (a \neq 0)$$

$$a \left\{ x^2 + 2 \times \frac{b}{2a}x + \left(\frac{b}{2a} \right)^2 - \left(\frac{b}{2a} \right)^2 \right\} + c = 0$$

$$a \left\{ x^2 + 2 \times \frac{b}{2a}x + \left(\frac{b}{2a} \right)^2 \right\} - a \times \left(\frac{b}{2a} \right)^2 + c = 0$$

$$a \left(x + \frac{b}{2a} \right)^2 - a \times \left(\frac{b}{2a} \right)^2 + c = 0$$

▶ Start

$$ax^2 + bx + c = 0 \quad (a \neq 0)$$

$$a \left\{ x^2 + 2 \times \frac{b}{2a}x + \left(\frac{b}{2a} \right)^2 \right\} - a \times \left(\frac{b}{2a} \right)^2 + c = 0$$

$$a \left(x + \frac{b}{2a} \right)^2 - a \times \left(\frac{b}{2a} \right)^2 + c = 0$$

$$a \left(x + \frac{b}{2a} \right)^2 = a \times \left(\frac{b}{2a} \right)^2 - c$$

Formula of root of quadratic polynomial equations

▶ Start

$$ax^2 + bx + c = 0 \quad (a \neq 0)$$

$$a \left(x + \frac{b}{2a} \right)^2 - a \times \left(\frac{b}{2a} \right)^2 + c = 0$$

$$a \left(x + \frac{b}{2a} \right)^2 = a \times \left(\frac{b}{2a} \right)^2 - c$$

$$\left(x + \frac{b}{2a} \right)^2 = \left(\frac{b}{2a} \right)^2 - \frac{c}{a}$$

▶ Start

$$ax^2 + bx + c = 0 \quad (a \neq 0)$$

$$a \left(x + \frac{b}{2a} \right)^2 = a \times \left(\frac{b}{2a} \right)^2 - c$$

$$\left(x + \frac{b}{2a} \right)^2 = \left(\frac{b}{2a} \right)^2 - \frac{c}{a}$$

$$\left(x + \frac{b}{2a} \right)^2 = \frac{b^2}{(2a)^2} - \frac{c}{a}$$

▶ Start

$$ax^2 + bx + c = 0 \quad (a \neq 0)$$

$$\left(x + \frac{b}{2a}\right)^2 = \left(\frac{b}{2a}\right)^2 - \frac{c}{a}$$

$$\left(x + \frac{b}{2a}\right)^2 = \frac{b^2}{(2a)^2} - \frac{c}{a}$$

$$\left(x + \frac{b}{2a}\right)^2 = \frac{b^2}{4a^2} - \frac{c}{a}$$

▶ Start

$$ax^2 + bx + c = 0 \quad (a \neq 0)$$

$$\left(x + \frac{b}{2a}\right)^2 = \frac{b^2}{(2a)^2} - \frac{c}{a}$$

$$\left(x + \frac{b}{2a}\right)^2 = \frac{b^2}{4a^2} - \frac{c}{a}$$

$$\left(x + \frac{b}{2a}\right)^2 = \frac{b^2}{4a^2} - \frac{4ac}{4a^2}$$

▶ Start

$$ax^2 + bx + c = 0 \quad (a \neq 0)$$

$$\left(x + \frac{b}{2a}\right)^2 = \frac{b^2}{4a^2} - \frac{c}{a}$$

$$\left(x + \frac{b}{2a}\right)^2 = \frac{b^2}{4a^2} - \frac{4ac}{4a^2}$$

$$\left(x + \frac{b}{2a}\right)^2 = \frac{b^2 - 4ac}{4a^2}$$

▶ Start

$$ax^2 + bx + c = 0 \quad (a \neq 0)$$

$$\left(x + \frac{b}{2a}\right)^2 = \frac{b^2}{4a^2} - \frac{4ac}{4a^2}$$

$$\left(x + \frac{b}{2a}\right)^2 = \frac{b^2 - 4ac}{4a^2}$$

$$x + \frac{b}{2a} = \pm \sqrt{\frac{b^2 - 4ac}{4a^2}} \quad (b^2 - 4ac \geq 0)$$

▶ Start

$$ax^2 + bx + c = 0 \quad (a \neq 0)$$

$$\left(x + \frac{b}{2a}\right)^2 = \frac{b^2 - 4ac}{4a^2}$$

$$x + \frac{b}{2a} = \pm \sqrt{\frac{b^2 - 4ac}{4a^2}} \quad (b^2 - 4ac \geq 0)$$

$$x + \frac{b}{2a} = \pm \frac{\sqrt{b^2 - 4ac}}{\sqrt{4a^2}} \quad (b^2 - 4ac \geq 0)$$

Formula of root of quadratic polynomial equations

▶ Start

$$ax^2 + bx + c = 0 \quad (a \neq 0)$$

$$x + \frac{b}{2a} = \pm \sqrt{\frac{b^2 - 4ac}{4a^2}} \quad (b^2 - 4ac \geq 0)$$

$$x + \frac{b}{2a} = \pm \frac{\sqrt{b^2 - 4ac}}{\sqrt{4a^2}} \quad (b^2 - 4ac \geq 0)$$

$$x + \frac{b}{2a} = \pm \frac{\sqrt{b^2 - 4ac}}{\sqrt{(2a)^2}} \quad (b^2 - 4ac \geq 0)$$

Formula of root of quadratic polynomial equations

▶ Start

$$ax^2 + bx + c = 0 \quad (a \neq 0)$$

$$x + \frac{b}{2a} = \pm \frac{\sqrt{b^2 - 4ac}}{\sqrt{4a^2}} \quad (b^2 - 4ac \geq 0)$$

$$x + \frac{b}{2a} = \pm \frac{\sqrt{b^2 - 4ac}}{\sqrt{(2a)^2}} \quad (b^2 - 4ac \geq 0)$$

$$x + \frac{b}{2a} = \begin{cases} \pm \frac{\sqrt{b^2 - 4ac}}{2a} & , a > 0 \\ \mp \frac{\sqrt{b^2 - 4ac}}{2a} & , a < 0 \end{cases} \quad (b^2 - 4ac \geq 0)$$

Formula of root of quadratic polynomial equations

▶ Start

$$ax^2 + bx + c = 0 \quad (a \neq 0)$$

$$x + \frac{b}{2a} = \pm \frac{\sqrt{b^2 - 4ac}}{\sqrt{(2a)^2}} \quad (b^2 - 4ac \geq 0)$$

$$x + \frac{b}{2a} = \begin{cases} \pm \frac{\sqrt{b^2 - 4ac}}{2a} & , a > 0 \\ \mp \frac{\sqrt{b^2 - 4ac}}{2a} & , a < 0 \end{cases} \quad (b^2 - 4ac \geq 0)$$

$$x + \frac{b}{2a} = \pm \frac{\sqrt{b^2 - 4ac}}{2a} \quad (b^2 - 4ac \geq 0)$$

Formula of root of quadratic polynomial equations

▶ Start

$$ax^2 + bx + c = 0 \quad (a \neq 0)$$

$$x + \frac{b}{2a} = \begin{cases} \pm \frac{\sqrt{b^2 - 4ac}}{2a} & , a > 0 \\ \mp \frac{\sqrt{b^2 - 4ac}}{2a} & , a < 0 \end{cases} \quad (b^2 - 4ac \geq 0)$$

$$x + \frac{b}{2a} = \pm \frac{\sqrt{b^2 - 4ac}}{2a} \quad (b^2 - 4ac \geq 0)$$

$$x = -\frac{b}{2a} \pm \frac{\sqrt{b^2 - 4ac}}{2a} \quad (b^2 - 4ac \geq 0)$$

Formula of root of quadratic polynomial equations

▶ Start

$$ax^2 + bx + c = 0 \quad (a \neq 0)$$

$$x + \frac{b}{2a} = \pm \frac{\sqrt{b^2 - 4ac}}{2a} \quad (b^2 - 4ac \geq 0)$$

$$x = -\frac{b}{2a} \pm \frac{\sqrt{b^2 - 4ac}}{2a} \quad (b^2 - 4ac \geq 0)$$

$$x = \frac{-b \pm \sqrt{b^2 - 4ac}}{2a} \quad (b^2 - 4ac \geq 0)$$

Formula of root of quadratic polynomial equations

▶ Start

$$ax^2 + bx + c = 0 \quad (a \neq 0)$$

$$x = -\frac{b}{2a} \pm \frac{\sqrt{b^2 - 4ac}}{2a} \quad (b^2 - 4ac \geq 0)$$

$$x = \frac{-b \pm \sqrt{b^2 - 4ac}}{2a} \quad (b^2 - 4ac \geq 0)$$

$$\therefore x = \frac{-b \pm \sqrt{b^2 - 4ac}}{2a} \quad (b^2 - 4ac \geq 0)$$

Formula of root of quadratic polynomial equations

▶ Start

$$ax^2 + bx + c = 0 \quad (a \neq 0)$$

$$x = \frac{-b \pm \sqrt{b^2 - 4ac}}{2a} \quad (b^2 - 4ac \geq 0)$$

$$\therefore x = \frac{-b \pm \sqrt{b^2 - 4ac}}{2a} \quad (b^2 - 4ac \geq 0)$$

▶ Start

$$ax^2 + bx + c = 0 \quad (a \neq 0)$$

$$\therefore x = \frac{-b \pm \sqrt{b^2 - 4ac}}{2a} \quad (b^2 - 4ac \geq 0)$$

▶ Home

END